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Unit 3 — Polynomials Review Sheet Name

Given the equation y = 4x? — 6x + 7, answer the following questions (1-7)

1. What's the degree of the polynomial? @

2. Calculate the discriminant and explain its meaning.
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3. What is the concavity of the polynomial?
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4. What process would you use to covert this polynomtal into vertex form?
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5. Determlne the number of roots for the above functlon
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6. Determine the x-intercepts of the above function.

7. What is the scale factor of the above function?

m

8. if4 +3.' is a root of a quadratic functlon what is the secend root.
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9. Solve 252 = 9x* — 27x.

10. How can you determine if you | have completely factored a polynornial?

e W (~) % 4{‘43[_’7) = 30""1'2;

q-«*uf’h Lo logl at A-inb. At s dnd xf g?c.g:ﬁalé.éé'

11. Rewrite the equation ¥ = 4(x — 7)% + 9 in general form.
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12. Completé the square and find the vertex, focus, and directrix ofy = gx +4x — 3.
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13. Factor: 128x'0 — 2x 2 % ((gq_xq“ l\) 5 X i‘—%}t}g_l){]lﬂ)&b-&- qx?+;)l

14. Factor: 81x* — 16 G'Dt‘ . L@)(@Eﬁ ‘;},L% ({3}{ 2,:(_ ’K%w’Z;X“’f W “""‘L'f) ?

15. Factor: 4x2 — 17xy — 15y° o o

16. Factor: 12n%+32n—35
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17. Factor: xw — 3xz + 2yw — 6yz
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18. Find exact roots forx® — 11x* —27x3 + 401x2 —124x — 1860
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19. Find the“general formof a polynom;al that has a root at V7, a double root at-2, and a root at 5i.
Assume the scale factor 53, e
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20. Solve —4x%+6x =9 i E
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21. A polynomial has roots at 5 and -3/2 and goes through the point (-2, -35). Write the equation in

- factored and general forms. %3««-*5 (){ »ﬁXZﬂ%’gj

~352 G (-2 -S4 13)
0\< X }“‘ - ‘:}ﬁ ;,;am + 75

22. Assume in the middlie of your test the teacher takes your calculator away from you. How would you
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